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COMMERCE
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Putthe following steps of strategic Management Process in correct sequence :
a Scanning and Evaluation of Business Environment
b.  Formulating strategies
c Implementation of Corporate Strategy
d Deciding about the Mission of the organisation
e.  Setting Corporate Level Objective

Codes :
(1) ab,c,dande (2) d,a b,cande
(3) d,aecandb (4) d,aebandc
2. Match the items of List-1 with those of List-11 and indicate the code of correct matching.
List—1 List— 11
a. Indian Railways i. Government Company
b.  Unit Trust of India ii. Department Undertaking
c. Bharat Heavy Electricals Limited iii. Statutory Corporation
Codes :
a b c
1 i i i
(2) ii i [
(3) ii [ i
(4) iii i [
3. ldentify the correct statement from the following :

(1) The liability of the Karta is limited.

(2) A joint Hindu family business continues to exist on the death of a co-partner.
(3) Ajoint Hindu family business ceases to exist on the death of the Karta.

(4) Ajoint Hindu family business comes into existence by Hindu law.

4.  Statement | : “Working in harmony with the community and environment around us and
not cheating our customers and workers we might not gain anything in the short run
but in the long term it means greater profits and shareholders value”.

Statement 11 : According to Mahatma Gandbhi, capitalist class owns wealth or capital as
trustees of the society.

Codes :

(1) Statement I is correct, but 11 is incorrect.

(2) Statement Il is correct, but I is incorrect.

(3) Both the statements I and Il are incorrect.

(4) Both the statements I and Il are correct.
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Match the items of List-I with items of List-11 and indicate the code of correct matching.

List—1 List—11
a. Principle of Separate I. Valuing Plant and Machinery at cost less
Entity depreciation.
b. Principle of il. Recording punctuality and honesty of
Conservatism employees of an organization.
c. Principle of Money iii. Capital contributed by proprietor is shown
Measurement as liability in Balance Sheet.

d. Historical cost concept iv. Valuing inventories at cost or market price
whichever is less.

Codes :

a b c d
(1) iii ii i iv
(2) iii iv ii i
3) iv iii i i
(4) iii i ii iv

Which of the following is not true ?

(1) When all the forfeited shares are not reissued, the forfeited shares account will also
show as credit balance equal to gain on forfeiture of shares not yet reissued.

(2) Loss on reissue of shares cannot be more than gain on forfeiture of those shares.

(3) At the time of forfeiture of shares, securities premium is debited along with share
capital when premium has not been received.

(4) When forfeited shares are issued at premium, the premium amount is credited to
Capital Reserve Account.

Preparation of consolidated Balance Sheet of Holding Company and its subsidiary

company is done as per

(1) AS11 (2) As21
(3) AS22 (4) AS23
Amount due to outgoing partner is shown in the balance sheet as his
(1) Liability (2) Asset
(3) Capital (4) Loan

Match the items of List-1 with items of List-Il and indicate the code of their correct
matching.

List—1 List—11

a. Non-price quantity relationships i. Extension and contraction of demand.
of demand.

b. Income effect of a price rise ii. Ordinal utility approach.
greater than its substitution effect.

c. Transitivity and consistency of iii. Increase and decrease in demand.
choices.

d. Price-quantity relationships of iv. Giffen goods
demand.

Codes :
a b c d

) iv i i i

(2) ii [ iv iii

(3) iii iv i i

4) i i i 1\
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10.

11.

12.

13.

14.

15.

The short-run cost function of a firm is as follows :
TC =200 +5Q + 2Q?
Where TC = Total Cost
Q = Physical units of the product of the firm
What would be the level of optimum output ?
(1) 05 2) 10
3) 12 4) 15

Short-run demand and total cost functions for a monopoly firm are as under :

Demand function : Q = 100-0.2P
Price function P =500-5Q
Cost function : TC=50+20Q + Q?
Where Q = Total quantity of the product in physical units.
P = Price of the product per unit
TC = Total cost
What is the profit maximizing output of the pure monopoly firm ?
1) 20 (2 35
(3) 40 (4) 50

In which one of the following market situations, the pricing above the prevailing market

price is used as a more common practice ?

(1) Markets where the selling firms face perfect competitive situations.

(2) Markets where the selling firms want to gain popularity of the products having high
cross elasticity of their demand.

(3) Markets where sellers rely on their customers’ high propensity to consume a
prestigious commaodity.

(4) Markets where the selling firms have entered into the stages of maturity and
saturation.

Which one of the following statements is false regarding normal distribution ?

(1) Mean, Median and Mode always coincide.

(2) Within + 1.96 o limits from Mean value, the area under the distribution is 99 percent
of the total area.

(3) The area under the normal curve represents probabilities for the normal random
variable and the total area for the normal probability distribution is one.

(4) For every pair of values of Mean and Standard deviation, the curve of the
distribution is bell-shaped and symmetric.

If unexplained variation between variables X and Y is 36%, what is the coefficient of
correlation between the variables ?

(1) 0.36 (2) 0.64

(3) 0.60 (4) 0.80

Which one of the following is the formula to calculate standard error of mean differences
of two sample groups ?

2 2
(&) (o) (o}
B 1,2
® 7 @ \ /7 *,
2
o P4, P,a
—1 2. 2 1 22
3) Gg when 7 < o) 4) n, + n,
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16.

17.

18.

19.

A researcher wants to test the significance of the difference between the average
performance of the two small sized samples when the information of the population
standard deviation is not available, which one of the following hypothesis-testing is
suitably used ?

(1) Z-test (2) Chi-square test

(3) F-test (4) t-test

Which of the following statements are not correct ? Indicate the correct code.

Statement | : Organizational culture means the general pattern of behaviour, belief and
values that organization members have in individuality.

Statement Il : As per contingency theory of Leadership, people become leader only
because of the demand of group members.

Statement 111 : The group judgement can only be obtained through the formal
committees.

Statement 1V : Ombudsperson in communication function is a person assigned to
investigate employee concerns and providing valuable upward communication link.

Codes :

(1) Statements |, Il and IV (2) Statements I, Il and IV

(3) Statements I, Il and 11l (4) Statements II, Il and IV

Assertion (A) : The organization is a closed system that operates within and interacts with
the external environment.

Reasoning (R) : The system approach to management includes the outputs from the external
environment on the basis of interactions between management and employees.

Codes :

(1) (A)and (R) are correct and (R) is the correct reasoning of (A).

(2) (A)and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A)isincorrect while (R) is a correct statement.

(4) Both (A) and (R) are incorrect.

Match List-1 with List-1I relating to corporate ethics and indicate the code of their correct

matching.
List—1 List— 11
a. Utilitarian theory  i. Behaviour guiding statements.
b. Code ii. Making public known about unethical
company practices.
c. Whistle blowing iii. Society with varied interest groups.

d. Pluralistic society iv. Evaluation of plans with its consequences
Codes :

a b c d
@ i iii iv i
(2) ii iii iv i
(3) iii i i iv
4) iv i ii iii

Paper-111 8 JA-008-17
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&, ST SHEE A foaer H geT Uy 6l € ad HEtaied B @ e SeheaT-uieTor
SUANT AT ST B ?

(1) Z-wefor (2) THTE-THERR G
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1) i i v i
@) i i v i
@) i i i iv
@) iv i i ii
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20.

21.

22.

23.

24,

Find out the correct sequence of planning function of the following elements :

a.  Diagnosis of opportunity

b.  Establishing objectives

c.  Indentifying and comparing alternatives

d.  Formulating derivative plans

e.  Choosing an alternative

Codes :

(1) a,cbed (2) b,eacd

(3 ab,ced (4) a,/b,cde

Creating the capability of making purchases directly from a firm’s website is known as
(1) Electronic Networking (2) Electronic Transactions

(3) Electronic Data Interchange (4) Electronic Information Transfer

For the following two statements of Assertion (A) and Reasoning (R) indicate the correct

code :

Assertion (A) : The self image could be an individual’s own perceived image and actual
image based on how others perceive the individual.

Reasoning (R) : Large number of products like credit cards, automobiles, readymade
garments, designer ware, cosmetics and perfumes are bought due to self image and
demographic variables like income may not be important in purchase decisions for
these products.

Codes :

(1) (A) and (R) both are not correct.

(2) (A)is correct, but (R) is not correct.

(3) (A)iscorrect and (R) is correct explanation for (A).

(4) (A)is not correct, but (R) is correct.

Match the media factors given in List-1 with examples given in List-1l and indicate the
code of current matching.

List—1 List— 11
a. Mediaclass I.  Prime time at 9:00 PM, full page ad of Honda City
b. Media vehicles ii. Magazine, T.V., Radio
c. Media option iii. Flighting, Pulsing

d. Scheduling & timing  iv. Times of India, T.V. serial Bhabhi Ji Ghar Pe Hain
Codes :

a b c d
@) ii \Y; i iii
(2) iii i iv i
3) i i iv iii
4) iv i iii i

In integrating specialist functions of product management with the line function of sales as
major challenge to top management can be achieved by which type of marketing
organization ?

(1) Functional organization (2) Territorial organization

(3) Matrix organization (4) None of the above

Paper-111 10 JA-008-17
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25.

26.

217.

28.

29.

Assertion (A) : The important aspect of dividend policy is to determine the amount of
earnings to be distributed to shareholders and the amount to be retained in the firm.

Reasoning (R) : Dividend policy of the firm has its effect on both the long term financing
and the wealth of shareholders.

Codes :

(1) (A) and (R) both are correct and (R) is the correct explanation of (A).

(2) (A)and (R) both are correct, but (R) is not the correct explanation of (A).

(3) (A)is correct, but (R) is wrong.

(4) (R)iscorrect, but (A) is wrong.

Match the items in List-1 with items in List-1l and indicate the code of correct matching :

List—1 List— 11
a. ABC Inventory Control i. Developing ancillary units around the
System manufacturing sites and supplying parts to
manufacturing units.
b. Just-in-time (JIT) System  ii. Enables a company to easily track large
items of inventory.
c. Out sourcing System iii. It eliminates the necessity of carrying large

inventories and saves carrying cost.
d. Computerized Inventory iv. Tends to measure the significance of each

Control System item of inventories in terms of its value.
Codes :
a b C d
) ii i [ v
@) iv i i i
(3) iv i [ ii
(4) iii i i 0\
In certainty-equivalent approach, risk adjusted cash flows are discounted at
(1) Accounting Rate of Return (2) Internal Rate of Return
(3) Hurdle Rate (4) Risk-free Rate
“That personal leverage can replace corporate leverage’ is assumed by
(1) Traditional Approach (2) M M Model
(3) Net Income Approach (4) Net Operating Income Approach

Match the List-1 with List-11 relating to Human Resource Planning activities and indicate
the code of correct matching.

List—1 List— 11

a. Forecasting i.  Optimal employment

b. Inventorying ii. Development activities

c. Anticipating manpower problems iii. Mathematical projections of industrial trends

d. Planning programs iv. Projecting present resources into future
Codes :

a b C d

) ii [ iv iii
2 i 0\ i i
(3) iv i [ iii
(4) iii i iv ii
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25. AMWMHUT (A) : T AT FHT T HewdqUl Yae] JIERE] il foaid sl S aretl 3T 6 A
3R Ui & U ST @ aret AT o6 (o S & |

% (R) : [t Ui ot it =it 1 we Seehiiersh famaiooT S SR & 6 U% &l ¢ |

FHT:

(1) (A) 3R (R) IHT el T 3R (R), (A) T Tel T |

(2) (A) 3R (R) I & €, W (R), (A) T Fel TLEH0T el & |

(3) (A) T T, I (R) T € |

(4) (R) @& e WI(A) @A g |

26. -1 I &1 BT THAT Geli-11 ¥ HINT 3T el B T TI HINTT

= - | = - 1
a. WS SRl sheter T i, fafHor we % e WeEe Al &
foepfaa gimr oy fafawior sepreat & qoit
3MYFT BT |
b. S=g-zrEd (JIT) faw=m i, Topdl U BT ATCT T T ST AT BT ST
TAT ST H HeTT ST ¢ |
c. oTHIGT fawn iii. 9% IS A6l Gt WA S SEvIshal hl quTd

FICA & T TG-T@F AT | a9 el ¢ |
d. FHREST T Hge eH iy, A e B U A %k god F Ged H ITH

Tewdl i AT € |
T
a b C d
@) i i i iv
) iv i ii i
3) v ii i i
@) iii i i iv
27. Ffvaaan aHeT SUnm # Sifes FHIEid q6s Hare i Efeiad § 9 6w agt fear S e 2
(1) et = AEi®T 3T (2) waweT i SRS T
(3) @mTIT (4) ifEw go &
28. o AT wiaist, HURE TAieRsT T Aaeiud X Gehdl & 1" 1 UidquTe fohas fehar T o1 2
(1) WREE U (2) UHTHHEA
(3) Toet o U (4) THao 9= 3 U
29. NG ST IS At & Heitad gen-1 3R Gei-11 1 e Y 31T Tet e B a5 B |
=it - | =it - 1
a. JaEH i, Sead ASTIR
b. e gt AR HAT i, o nfatatst
C. STSITeRT Sl FHEAT T qathord iii. STENfTR TS % Mo SFEE
d. FiSHT FHEHT iv. 9T T FAEE @A H STHH
- T
a b C d
@) i i iv ii
@) i iv ii i
3) iv i i ii
@) iii i iv i
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30.

31.

32.

33.

Which council was established in India by Government of India in the year 1966 to
promote safety consciousness among workers in industries ?

(1) Factory Advise Council (2) National Safety Council
(3) National Industrial Council (4) Safety Regulations Council

Assertion (A) : Recruitment is positive while selection is negative in its application.

Reasoning (R) : Recruitment aims at increasing the job seekers while selection rejects a
large number of unqualified applicants.

Codes :

(1) (A) is correct, but (R) is not correct.

(2) (A) and (R) both are correct, but (R) is not the right explanation of (A).

(3) (A) and (R) both are correct and (R) is the right explanation of (A).

(4) (A)and (R) both are incorrect.

Match the List-1 with List-1I relating to Social Security measures in India and indicate the
code of correct matching.

List—1 List— 11
a. Social Assistance i. Payable to workers in accidents & injuries
during employment.

b. Social Insurance ii. Covers individual risks primarily.
c. Commercial Insurance iii. Maternity benefits.
d. Workmen’s Compensation iv. Provident Funds
Codes :

a b C d
(1) iii iv i i
@) iv i i i
(3) iv i [ ii
4) ii [ iii iv

Match the following items of List-I with the items of List-1l and indicate the code of
correct matching.

List—1 List— 11
(Name of Bank) (YYear of establishment)
a. IFCI . 1981
b. SIDBI ii. 1982
c. NABARD iii. 1948
d. EXIM Bank iv. 1990
Codes :
a b C d
(1) iii i i iv
@) iv i iii i
(3) iv i i i
(4) iii iv i i
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30. S H SR % e GRET STHREehdl Sl Jgidl 3 % [t 9Rd TR gRT a9 1966 H IR |
Toper ufug it ST B T off ?
(1) =R Hee TRy (2) g e ey
(3) M iR UREg (4) g fafes oy
31,  Ifu@e (A) : SN § ol GHRICHS &, STfeh 9a ThRIHS & |
A% (R) : ¥l 1 329 AR W A6t 1 &7 ST BIT & STafeh 999 | HIw! T § ST
3Mase FRET & € |
%
(1) (AT e R (R) T TEIE |
(2) (A) 3R (R) IHT W& &, T (R), (A) FT Tel TISHT T&l § |
(3) (A) 3R (R) IHT Tl &, 3T (R), (A) FT Tl TLEHOT E |
(4) (A) 3R (R) IHI Toid € |
32. 9RA H QHISTER R U % T § Felt-1 T THeTe gat-11 & |1 Y 3R T&t e H =997 HL |
e - | =t - 11
a. ISR Ferr i, TSR % SR AT a1 gaed &H W HIHTR
H T |
b. ST ST ii. W T 9 A % SfEad B HeR AT e |
c. anfuraes T iii. AT @y
d. IR @ efaufa iv. wfaer fafy
FT
a b C d
1) iii iv i i
@) iv i i i
@3) iv ii i i
@) i i i iv
33.  gl-1 Ff TR B G-I BRI % G GHlTd HE qAT F&l e Aot F H a9 |
= - | = - 1
(Sl T ) (T W)
a. T U 3 37 i. 1981
b. ot ii. 1982
c. AErE iii. 1948
d. ufem 9% iv. 1990
HT
a b C d
@ i i i iv
@) iv i ii i
@) iv i i i
@) i iv i i
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34.

35.

36.

37.

38.

With a view to encourage newer classes of entrepreneurs and bringing about wider
dispersal of ownership and control of industrial undertakings, IDBI operates a special
scheme for supplementing the equity contribution to projects made by small and new
entrepreneurs. This scheme is known as

(1) Bridge Loan Scheme

(2) Soft Loan Scheme for Modernisation

(3) Technical Development Fund Scheme

(4) Seed Capital Assistance Scheme

Which one of the following is not the objective of UTI ?

(1) To give everyone a chance to indirectly own shares and securities in a large number
of select companies.

(2) To maximise mobilisation of people’s savings by making insurance linked savings
adequately attractive.

(3) To channelize the pooled savings into productive outlets.

(4) To mobilise savings of the community by offering savers the triple benefits of
safety, liquidity and profitability of investments.

Under which of the following schemes, the IFCI procures equipment for an actual-user
industrial concern by making payment to the machinery/equipment supplier, and then
resells/transfers the equipment to the actual-user-industrial concern at the same cost,
subject, however, to any liability arising out of taxes and other levies, being put to the
account of the actual user industrial concern ?

(1) Equipment Credit Scheme (2) Equipment Procurement Scheme
(3) Equipment Finance Scheme (4) Scheme of Equipment Leasing
Match the items of List-1 with List-11 and denote the code of correct matching.
List— I List— 11
a. International Bank for Reconstruction and Development i. 1945
b. International Finance Corporation ii. 1956
c. Asian Development Bank iii. 1966
d. Export-Import Bank of India iv. 1981
Codes :
a b C d
1) i i i 0\
@) iv i i i
3) i i i iv
4) ii [ iv iii

Assertion (A) : International Finance Corporation (IFC) contributes to increase
sustainable agriculture opportunities, improve health and education and increase
access to financing for micro finance and business client.

Reasoning (R) : The IFC has focused on a set of development goals to ensure that its
projects are expected to achieve the target.

Codes :

(1) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(3) (A)is correct but (R) is incorrect.

(4) Both (A) and (R) are incorrect.
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34.

35.

36.

37.

38.

I o qT S hl AICIEd FH TN SR IUHAT & @i e =60 & et fBawa
A % 39T W Y qAT AU SAHA R T e URASHIST H THA SFEH & SR % T
3ME 2 ot 3TTE U [T AT Falerd Rl & | T AT (ifeha | fohd =T & ST et & 2

(1) forst o= e (2)  3MHRIFOT & foTT IR F0T
(3) el fosrr Tfer At (4) ST IS e A
TeAifeRe o | 9 g 2F 3T 1 329 el § 2

(1) € T | gfw=T Hutat § SeRT qor uiayfadt % STweeT @i & g T i stees
T

(2) ST Grerg Tl B AT €9 Y SRS TR Alh o o UEUT i SAHAT FHEAT |

(3) UKL ol Sl SRS WTEHT H oA |

(4) TodwATeT i AT P TR, TRAdT T ATIIGAT % el ATl Dl UITHT T TR B
Al ST |

fr=iferd O | {69 IIoFT & 3T oS UW | ST andiash-SuaiThdl e Suel % o

YT o EIE HYRI/STHT SATYIqehal sl ST ek el § a9l 38 a1% SH o T

SUSHIT i A TF STANTHAT STENTTR HUAT ! STHTUT Tt YATSIShY/ SR FLATALVT el &, S {6,

T, BRI T 3T SIURTN o 3T Bl & 519 ardforsh SUanTehd! Siieifie -t % @ &

ager fear ST & ?

(1) SIHOT TG IS (2) SUHROT ST TS
(3) USRI fa AT (4) SUSHROT 9T W T ST St AT
G-I 3t /T BT GA-11 % Trer GAfeTd e a2 oA % Tet e =9
=it - | =t - 1
a. SRR AT Ue foehrg o i. 1945
b. IR faa ii. 1956
c. uRmEE g % iii. 1966
d. YRR sTrEmE-Fa S% iv. 1981
T
a b c d
1) i i i iv
) iv ii i i
3) i ii i iv
@) ii i iv i

At (A) : AL foe 9 (ST AT, Tad HT TR | gy i, e dor oen o
YR A T GeHTa T HRIER! UTeehl & [oTT fauieor f gerfal § g w | FeH
FIATE |

% (R) : 3T U A 7 96 oo o Ush THg W & higd [ha1 & dlfes I8 gHrvad fomar s
Tk T 3! RATSIISTT 5T 16 3 ATl Hd ol ST &6l STt & |

T

(1) (A) 3R (R) I Tl &, & (R), (A) f el =amer &l § |
(2) (A) 3R (R) I &l € 3R (R), (A) o Tel A € |
(3) (A) T E, fhq (R) T & |

(4) (A) 3R (R) IHI Teid € |
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30.

40.

41.

42.

Under TRIPS Agreement, patent is granted subject to which of the following ?

a.  The product or the process is new one.

b. It contains an inventive step.

c.  Itiscapable of industrial application for 15 years from the grant of the patent.
d.  Itis capable of industrial application for 20 years from the grant of the patent.
Codes :

(1) Onlyaandb (2) Onlya,bandc

(3) Onlya, bandd (4) Onlyaandd

Statement |1 : During the period of prosperity, prices of goods fall and income of people
go down. These changes in incomes of the people and prices of goods affect exports
and imports of goods and thereby influence the balance of payments.

Statement |11 : Secular disequilibrium in balance of payments occur because of short-run
changes in an economy.

Codes :

(1) Statement I is correct, but 11 is incorrect.

(2) Statement Il is correct, but | is incorrect.

(3) Both the statements | and Il are correct.

(4) Both the statements I and 11 are incorrect.

Which of the following correctly depicts differences between a merger and an acquisition

of stock ?

(1) An acquisition of stock results in the total absorption of a firm whereas a merger
does not.

(2) In case of a merger, the firm can deal directly with the shareholders of the acquired
firm but not in the case of acquisition of stock.

(3) Shareholders of the acquired or target firm vote by their response to a tender offer in
an acquisition of stock but cast a formal vote in a merger situation.

(4) A formal vote by the acquired firm’s shareholders is required for an acquisition of
stock but not for a merger.

Match the items of List-1 with the items of List-11 and indicate the correct code :

List—1 List— 11

a. Value added Model i. It is based on the process audit thereby evaluating the
corporate social performance.

b. Bauer-Fenn Model ii. It takes into account the social benefits and costs.

c. ABT Model iii. It reflects the impact of a business enterprise on its
employees, the local community and the public at large.

d. ESTs Model iv. It shows the value added by the value of production of
socially desirable outputs minus the value of socially
undesirable effects.

Codes :

a b C d

1 i i i 0\

@) iv i i ii

(3) iv i i i

4) iv i i iii
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39. fomm (@ R 3g o v Wi & A Fifehd & STl U= URT foha ST &
SIS T Uik TS ¥ |

a.
b. U fo=hING FET & |
C.
d.

g U IS T STH | 15 a6t o 1w it ruanT o fofe wem ¢ |
g U WS T ST & 20 I8t % foIw 3iienfites stuanT & fow qery & |

&2
(1) waeta3iRb (2) FacTa, b 3Rc
(3) waeta, b 3fid (4) Facta3iRd

40. ®HUA | : GYLF B AT % IR SIS Dl BIHAT Tl & TG TR Dl 3T T STl & | A b

3T qAT A3 B HHA | T e a&qel % A q°r S S gt R € aer
T TR AN T Sl T et & |

FHUA || : T Fo § FRea 31 ot sreieraeen § steuratyss URad o sRoT &l € |

T

(1) FFI1TE T, fhg 11 Tod & |

(2) FFNTEE, gl Ted e |

(3) A1 RIS T E |

(4) I 31 A T & |

41. TFeiteRd B | SIF fgora qn w2ie & U o diF 37T S 9el ¥ 9 fafd #ar €2
(1) i o ATeev fhdt w1 T97 GHEYH €, STaf foer oar F&l & |
(2) Toor™ & AmEe O AR B SR ®H o AR & AT WY T Y Gehdl |,
TR Tl o SATHTETT o AHe | Tl |
(3) IR 3TeT Ted BH % YRR Wi & SwEeT H AT geeher % ufd 1ot etfshar
% AT ¥ HASH R €, fohq faera & et § S Hage &R § |
(4) SATER B % IEENERT ST Wik & SR % foIT ST T i SMeggehar gl &,

forq farera & fore &t |
42.  GE-1 0 AT B GE-11 F a1 Gl B 3T el H B T B
= - | =it - 11
a. Hog Hafed dieed i, T UhAT SRRTOT W STTRA Bl €, fSTaeh §RT hiuRe AmiSTS
HTSHHT T GeaiehT fohaT ST & |
b. WIS Hige ii. IO TSI AT 3 GNTAT Sl It AT ST & |
c. U HEA iii. 9€ FIQE ITY H AU HHANET, AT GHIET T e
T Y SR T Y97 i Afdfeied Har g |
d. Tugdaed iv. I€ QIS €9 § difed SR & god § 9 e €9 9
SIS TS % God i Tl R T Hod Gag hl 90T § |
%
a b C d
@ i i i iv
) iv i i i
3) iv ii i i
@) iv i i ii
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43.

44,

45.

46.

47.

48.

You are given the following information :

X-Security Market-Security
Expected Return (%) 15 12
Standard Deviation of the return (%) 6 4
Coefficient of Correlation between the returns 0.4

What is the Beta-coefficient of security X to measure its systematic risk ?
Codes :

1 1 (2) 15

(3) 0.6 4) 04

Lease which includes a third party (a lender) is known as

(1) Direct lease (2) Sales and lease-back
(3) Leveraged lease (4) Inverse lease

Which of the following activities should be shown separately in the cash flow statement
prepared as per Accounting Standard-3 ?

a.  Cash flow from borrowing activities.

b.  Cash flow from operating activities.

c.  Cash flow from financing activities.

d.  Cash flow from investing activities.

e.  Cash flow from miscellaneous activities.

Codes :
(1) a/b,c (2) ac,e
(3) b,cd (4) ab,e

Which of the following statements is correct ?

(1) The oldest stock exchange of India is OTCEI.

(2) Sensex is an index number of 30 scrips.

(3) Inbook-building process, the price of the security is announced by the company.
(4) Futures and options in shares are traded at all stock exchanges of India.

Match the items of List-1 (Developers) with the items of List-1l (Methods of measuring
human assets) and indicate the correct code :

List -1 List—11
a. Hekimianand Zones i. Stochastic Rewards Valuation Model
b. Hermanson ii. Competence Bidding Method
c. R.Likert iii. Adjusted Discounted Future Wages Model
d. Flamholtz iv. Behavioural Variables Model
Codes :
a b c d
@ i i iii iv
(2) ii iii iv i
3) iv i i i
(4) iii iv ii i

The concept of achieving maximum profits through increased consumer satisfaction for
raised market share focuses on

(1) Product (2) Selling

(3) Customer (4) Production
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43.

44,

45.

46.

47.

48.

3TMaeh! F=AiTehd T <1 TE R

X-wiferfa CISIEIREI]
FeaTTT e (%) 15 12
TTATH Sl A faaer (%) 6 4
AT 3 S Yeda ot 0.4
AT X o YOI SR bl 919 % {70 ST siel-Tutich 3R ¢ 2
ETE
1) 1 2) 15
(3) 0.6 4) 04
TE g7 FSTEH T U8t (FOTSTAT) WHA Bl &, FEeawdl &
(1) v og (2) fosh! T wgT-ATH
(3) eSS T (4) fowdia ugT

AGHT AHH-3 % 3TAR AR T T Fha1 vare faawor # feifeha o 57 hrdehamal &t o1em 9
TIMET ST =BT 2

YR T STH & Sl ¥ Tehet Yo

UITeT ShIAehelTdl § Tehd] TaTe

T shrEihaTdl § el UaTE

fer9T Sl | bl aE

fafaer HrIshetrdl | el UaTe

Po0 o

%

(1) ab,c (2) ace

3) b,cd (4) ab,e

f=ifera o @ I | U WE § 2

(1) R o Gl AT i TSt 3 W Z3ME & |

(2) TG 30 I H TH JAHSD ¢ |

(3) T fafee ufskar & ufawfa & gor ! SNSOT FHEOAT gRT Y ST E |

(4) IR P FEE qAT STH H BRITR TR P TH @b [qaiorar § 621 S & |

-1 T /T (ATUIEeh) Sl GEl-1T bl &1 (T ST o H1T i fafer) 3 drer Gaferd s aor Tt
T N T B

it - | el - 11

a. THHAE U S i, DY (Rehieeh) R odis dred
b. &= ii. & el Hied
c. R fote iii. TOERT aEThd AfasTehiieis ASIgl Higel
d. TS iv. STEER GeEl = Asel
ET

a b C d
@ i i i iv
@) ii i iv i
3) iv i i i
@) iii iv i i

IE TT AR 9T % {oTT Gafea STie it & ATeam & T i STehad e i STTRom §
91 fohe W & Shigel e T & 2

(1) 3O (2) fosnr

(3) WEH 4) 3

JA-008-17 21 Paper-111



49.

50.

51.

52.

53.

54.

55.

Which of the following is not a measure for quality of service for consumer ?

(1) Responsiveness (2) Competition
(3) Empathy (4) Tangibility
Which of the following is not a targeting strategy ?
(1) Standardization (2) Differentiation
(3) Focus (4) All of the above
Match the items of List-1 with items of List-1l and indicate the code of correct matching.
List— 1| List—11
a. Real Needs i. Expecting good service from car dealer.
b. Unstated Needs ii. Customer expects to be seen by his friends as value-oriented
savvy consumer.
c. Delight Needs iii. Customer wants car at low operational cost and not initial cost.

d. Secret Needs iv. Customer receives free insurance on purchase of car.
Codes :

a b c d
(1) iii i iv i
2 i iii ii iv
(3) ii \Y; i iii
4) iv i i iii

Statement | : The firm should “stick to its niching” but not necessarily to its niche.
Statement Il : Multiple niching is not preferable to single niching.

Codes :

(1) Both the Statements are true.

(2) Both the Statements are false.

(3) Statement I is true, but Statement 11 is false.

(4) Statement Il is true, but Statement I is false.

A descriptive thought that a person holds about something is called
(1) Belief (2) Learning
(3) Attitude (4) Perception

Deferment, Autonomy of object, use of the common place, involvement/detachment and
use of metaphor are description of which of the following technique ?

(1) Brainstorming (2) Synectics

(3) Forced Relationship (4) Attribute listing

Which of the following statements are correct ? Indicate the correct combination :

a. A well motivated individual tends to experience a low degree of morale.

b. A group characterized by a high state of morale may or may not have a high degree
of motivation to perform.

c.  Morale can always be built up by a combination of rewards and penalties.

d.  Organizations, in general, devote more direct attention towards motivational aspects
of people’s behaviour than the aspects of morale.

Codes :
(1) abandd (2) canddonly
(3) acandd (4) banddonly
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49.

50.

51.

52.

53.

54.

55.

fifeh & @ 1 ST % feIw Far ol ToTerT i AT @ 8 2

(1) eFgfsharHedT (2) it
(3) wEpHa (4) =y
it § | I o1e oI = & 2
(1) @ (2) femiEtemoT
(3) (4) ST W
-1 1 T&T BT G-I B & 6 A1 e s e Wl fHer et e &t = &Y |
=it - | =it - 11
a. Tfah STETIHAT i, PR SoR 9 TS Jal i ST BT |
b. ST STETAHA Qi ST TE SN FAT € {F ITF T 3 geagEl THHR
ST TS |
C. 3= STl iii. ST HH Y= N W, 7 o SR ArTd W %R 9edl |

d. T AR iv. SR % T & GHT UM {:3]ch ST U el & |
HT:

(=N

a b c d
(1) iii i iv i
2 i iii ii iv
(3) i iv i iii
4) iv i i iii

HAT | FH H 310 [ @ o T =ifen, e e w9 @ o e | @l
HU || ; TsheT YN St 3TUeT Sget M e e et ¢ |

%

(1) SHT AT | (2) TH FUF AT E |

() FAITE fFaFAINTaE | (4) FATI W, fhg Fo | Tod ¥ |
foredt =afert o1 foplt o & SR W foraroTee fora et &

(1) foara @) =

(3) gt (4) sTEEROT

foeTrs, o ol TR, AT T S SUFT, IMHA 8T/ STeRT AT 9T S 61 ST fhd
eheiieh ST TereoT & ?

(1) s (2) fafeesa

(3) T GaY (4) 0T RO

feifeRa o I @ %o WEl § 2 Wel WA W q
a.  U% guRA =T &1 TAITeT S ST T € |
b. ?gﬁﬁmwmﬁ%ﬁwﬁﬂaﬁaﬁmﬁ%ﬁmﬁaﬁ%mﬁﬁ
|
C. WA gHY GRWHRI qT VST & WA FRT ST ST el § |
d. W B9 H G TG % UEelSl i 3TUeT ik SagR o IRUTCHe Ugejstl R eded ¥
T A AR I E |

G YA
(3) acard (4) Fab T d
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56.

57.

58.

59.

Assertion (A) : Organizations are increasingly getting de-jobbed.

Reasoning (R) : Jobs are becoming more amorphous and more difficult to define.
Codes :

(1) (A) and (R) both are correct but (R) is not the right explanation of (A).

(2) (A) and (R) both are not correct.

(3) (A)iscorrect, but (R) is incorrect.

(4) (A)iscorrect and (R) is right explanation of (A).

Which of the following statements relating to incentive payments is correct ?

(1) In Halsey incentive plan, bonus paid to a worker is equal to 50 percent of time saved
divided by rate per hour.

(2) In Rowan incentive plan, bonus paid to employee is equal to the proportion of the
time saved to the standard time.

(3) In Taylor’s differential piece rate system, a worker whose output exceeds standard
output is paid 100 per cent of piece rate and a worker whose output falls short of
standard is paid only 50 percent of piece rate.

(4) The Rowan incentive plan is the base of all other incentive, payment plans.

Match the most common rating errors made during performance appraisal with their right
explanations. Indicate the code of correct matching.

List—1 List— 11
(Common Rating Errors) (Description)
a. Leniency i. Subjective assessment
b. Halo error ii. One aspect of individual’s performance
influence his entire performance
c. Spillover effect iii. Past performance appraisal ratings
unjustifiably influencing current ratings.
d. Rater effect iv. Favoritism and stereotyping
Codes :
a b C d
@) i i iii iv
(2) ii i iv i
(3) iii iv i i
4) iv i i i

Which one of the following industrial relations approach believes in state intervention via
legislation and the creation of industrial tribunals as supporting management’s interest
rather than ensuring a balance between the competing groups ?

(1) Unitary approach (2) Pluralistic approach
(3) Marxist approach (4) Judiciary approach
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61.

62.

63.

64.

What is the term coined for the system of communication and consultation, either formal
or informal, by which workers of an organization are kept informed, as and when
required, about the affairs of the undertaking and through which they express their opinion
and contribute to decision-making process of management ?

(1) Collective Bargaining

(2) Empowerment

(3) Workers’ participation in management

(4) Welfare state

Match the items of List-1 with those of List-11 with regard to operative functions of HRM
and indicate the code of correct matching.

List—1 List— 11

a. Procurement i. Performance appraisal

b. Development ii. Discipline

c. Integration iii. Induction

d. Maintenance  iv. Personnel research
Codes :

a b C d

@) ii [ iv iii
2 i 0\ i i
(3) iii i i iv
4) ii i [ 1\

What is the popular term used for that type of option in Foreign Exchange Market which
provides the holder the right to purchase or sell foreign currency at the most favorable
exchange rate realized over the life of the option ?

(1) Forward reversing option (2) Preference option

(3) Look back option (4) Basket option

What is the term used popularly for the situation when a speculator, being dominant in the
market, expects a drop in the value of a particular currency and he begins selling it
forward ?

(1) International Fisher Effect (2) Bandwagon Effect

(3) Interest Rate Parity Effect (4) Relative Version Effect

Identify the correct statement.

(1) The Maastricht Treaty signed in February 1992 renamed European Community (EC)
as European Economic Community (EEC).

(2) The main objective of the formation of ASEAN Free Trade Area in 1993 was to
soften the restrictions on the movement of professionals in the region and helping
poorer countries.

(3) The SAARC is aregional grouping scheme among Six South Asian Countries.

(4) The European Union, including European Monetary Union, was the biggest and
most important regional integrative scheme.
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65.

66.

67.

68.

Match List-I with List-11 relating to benefits and cost of economic integration and identify
the code representing correct matching.

List—1 List— 11
a. Trade creation i. Movement of production and resources in opposite
directions.
b. Trade diversion ii. Become active when a member country does not

augment export but simply shifts its imports from low
cost source to high cost source.

c. Trade deflection iii. Shifting the locus of production from high cost to low
cost centre within the union.

d. Polarisation forces iv. Goods produced in a third country entering a free trade
area through a member country having lower tariff.

Codes :

a b c d
@) ii iii iv i
(2) ii iv i iii
(3) iii i iv i
(4) iii i i iv

What is the situation referred to as, amongst the following, when intra-region trade is duty
free but there is variation in tariff structure for import from a third country ?

(1) Customs Union (2) Common Market

(3) Free Trade Area (4) Economic Union

Which of the following statements is not correct relating to comparison of FDI with trade ?
(1) Only one market can better be served with differentiated products.

(2) FDI overcomes tariff and transport cost involved in trade.

(3) It reduces financial risk through greater diversification.

(4) It creates harmonious political relations.

Match List-1 with List-1l regarding the grouping of Multi-national Corporations and
identify the code representing correct matching.

List—1 List—11
(Type of MNC) (Basic feature)
a. Ethnocentric firms i. Maintain a balance in home and host
market oriented policy.
b. Polycentric firms ii. Seldom distinguish between domestic
& global operation policies.
c. Geo-centric firms iii. Follow a host market policy.
Codes :
a b C
(1) iii i i
(2) iii i [
(3) i i [
4) ii [ i
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70.

71.

72.

73.

74.

75.

An equipment was acquired at a cost of ¥ 10 lacs and was put to use in Scientific
Research. After one year of research the equipment was brought into another business of
the assessee. For charging depreciation, Block of Assets shall be increased by

(1) <10 lacs.

(2) Market value of the equipment on the date it was brought into another business.

(3) Cost or market value of the equipment, whichever is less.

(4) NIL.

If an assessee is engaged in the business of growing and manufacturing tea in India, the
portion of agricultural income in that case shall be

(1) 100% (2) 60%

(3) 50% (4) 40%

Which of the following statements is not correct ?

(1) X is an individual assessee. He pays a monthly rent of ¥ 10,000 pm. He cannot
deduct tax at source.

(2) On salaries, tax is deducted at source according to provisions of Sec. 192.

(3) No tax is deducted at source in respect of interest on securities issued by a domestic
company.

(4) Bank will deduct tax at source @ 10% if bank fixed deposit’s interest credit is more
than ¥ 10,000 in a year.

X donated ¥ 20,000 to a charitable institution, which is eligible for deduction u/s 80 G,
during the financial year 2015-16. His total income during the period was ¥ 1,50,000.
How much deduction he can claims u/s 80 G ?

(1) T 7,500 (2) 10,000

(3) 15,000 (4) 20,000

X is employed in a private company at a salary of ¥ 70,000 per month and ¥ 10,000 per
month as dearness pay. He received ¥ 2,000 per month as house rent allowance. He paid
T 2,500 per month as house rent. What is the exempted portion of house rent allowance ?

(1) 2,500 (2) T 2,000

(3) 1,000 (4) NIL

Surcharge is payable by an individual where the total income exceeds
(1) T 10lacs (2) T 25Ilacs

(3) % 50lacs (4) R 1lcrore

Which one of the following statements is not correct ?

(1) A person may not have assessable income but still be an assessee.

(2) Insome cases, the assessment year and the previous year can be same.
(3) An Indian company is always resident assessee.

(4) Surcharge is additional tax calculated on total income.
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